

**A NOTE ON THE ANALYTIC BI-UNIVALENT FUNCTIONS  
ASSOCIATED WITH VAN DER POL NUMBERS**

SERAP BULUT<sup>1</sup>

**ABSTRACT.** In this work, we introduce a new general subclass of analytic and bi-univalent functions associated with Van der Pol numbers and determine estimates for the general Taylor-Maclaurin coefficients of the functions in this class by using the Faber polynomial expansions. Also, we obtain initial coefficient bounds and investigate Fekete-Szegő problem.

1. INTRODUCTION

Let  $\mathcal{H}$  be the class of analytic functions in the open unit disk  $\mathbb{U} := \{z \in \mathbb{C} : |z| < 1\}$ , and consider the classes  $\mathcal{P}$ ,  $\mathcal{A}$  and  $\mathcal{S}$  defined by

$$\begin{aligned}\mathcal{P} &= \{p \in \mathcal{H} : p(0) = 1 \text{ and } \Re(p(z)) > 0 \ (z \in \mathbb{U})\}, \\ \mathcal{A} &= \{f \in \mathcal{H} : f(0) = f'(0) - 1 = 0\}, \\ \mathcal{S} &= \{f \in \mathcal{A} : f \text{ is univalent in } \mathbb{U}\},\end{aligned}$$

respectively.

For two functions  $\mathfrak{f}, \mathfrak{g} \in \mathcal{H}$ , we say that the function  $\mathfrak{f}$  is subordinate to  $\mathfrak{g}$  in  $\mathbb{U}$ , and write

$$\mathfrak{f}(z) \prec \mathfrak{g}(z) \quad (z \in \mathbb{U}),$$

if there exists a Schwarz function

$$\omega \in \Omega := \{\omega \in \mathcal{H} : \omega(0) = 0 \text{ and } |\omega(z)| < 1 \ (z \in \mathbb{U})\},$$

such that

$$\mathfrak{f}(z) = \mathfrak{g}(\omega(z)) \quad (z \in \mathbb{U}).$$

It is clear that a function  $f \in \mathcal{A}$  can be expressed as

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (z \in \mathbb{U}). \quad (1.1)$$

---

*Key words and phrases.* Analytic function, bi-univalent function, coefficient estimates, Faber polynomials, Van der Pol numbers.

2010 *Mathematics Subject Classification.* Primary: 30C45.

*Received:* 17/04/2025    *Accepted:* 26/07/2025.

*Cite this article as:* S. Bulut, A note on the analytic bi-univalent functions associated with Van der Pol numbers, Turkish Journal of Inequalities, 9(2) (2025), 1-10.

By the Koebe One-Quarter Theorem [10], every function  $f \in \mathcal{S}$  has an inverse  $f^{-1}$ , which is defined by

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{U}) \quad \text{and} \quad f(f^{-1}(w)) = w \quad \left(|w| < r^*; \quad r^* \geq \frac{1}{4}\right).$$

For the inverse function  $g := f^{-1}$ , we obtain

$$\begin{aligned} g(w) &= f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots \\ &= w + \sum_{n=2}^{\infty} A_n w^n. \end{aligned} \tag{1.2}$$

If the functions  $f$  and  $f^{-1}$  are univalent in  $\mathbb{U}$ , then  $f$  is called bi-univalent function. Let  $\Sigma$  denote the class of bi-univalent functions in  $\mathbb{U}$  given by (1.1). The class  $\Sigma$  was first introduced and studied by Lewin [21]. For more details and examples of functions belong to the class  $\Sigma$ , see [26] (see also [9, 16, 25, 26, 30, 31]).

Brannan and Taha [5] and Taha [27] investigated certain subclasses of  $\Sigma$  and found non-sharp estimates on  $|a_2|$  and  $|a_3|$ . But the bounds on the general coefficient  $|a_n|$  for  $n > 3$  are not much known. In this study, we use the Faber polynomial expansions introduced by Faber [11] to determine general coefficient bound  $|a_n|$  of analytic and bi-univalent functions whose coefficients are related to Van der Pol numbers. Some works investigated the general coefficient bounds  $|a_n|$  using Faber polynomial expansions can be found in [3, 4, 6, 13, 14, 18, 24, 32], (see also [7, 12, 15]).

Van der Pol [29] studied the sequence  $\{\wp_n\}_{n \geq 0}$  by using the function

$$\mathfrak{P}(z) = \frac{z^3}{6[e^z(z-2) + (z+2)]} = \sum_{n=0}^{\infty} \frac{\wp_n}{n!} z^n \quad (z \in \mathbb{U}), \tag{1.3}$$

where the numbers  $\wp_n$  were later named Van der Pol numbers and utilized in the process of unsmoothing a smoothed function of three variables.

The first four values of Van der Pol numbers were calculated as (see [17])

$$\wp_0 = 1, \quad \wp_1 = -\frac{1}{2}, \quad \wp_2 = \frac{1}{5}, \quad \wp_3 = -\frac{1}{20},$$

thus, we have

$$\mathfrak{P}(z) = 1 - \frac{1}{2}z + \frac{1}{10}z^2 - \frac{1}{120}z^3 + \dots$$

The function  $\mathfrak{P}$  given by (1.3) is analytic in  $\mathbb{U}$  and it maps  $\mathbb{U}$  onto a convex domain included in the right half plane (for more details, see [23], and also see [22]).

The analogous of these numbers for functions of one variable are the Bernoulli numbers. The connection between Van der Pol numbers and Rayleigh function is shown by Howard [17]. The Rayleigh function is defined in terms of the zeros of the Bessel function (for more details, see [8, 19, 20]).

Throughout this paper, " $\prec$ " denotes the subordination, and we assume that  $0 \leq \lambda \leq 1$ . By considering the function  $\mathfrak{P}$ ,

$$\mathfrak{P}(z) = \frac{z^3}{6[e^z(z-2) + (z+2)]}$$

given by (1.3), we introduce a new subclass of analytic bi-univalent functions as follows.

**Definition 1.1.** A function  $f \in \Sigma$  given by (1.1) is said to be in the class  $\mathcal{V}_\Sigma^\lambda(\mathfrak{P})$  if the following conditions are satisfied:

$$\frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)} \prec \mathfrak{P}(z) \quad (1.4)$$

and

$$\frac{wg'(w) + \lambda w^2 g''(w)}{(1-\lambda)g(w) + \lambda w g'(w)} \prec \mathfrak{P}(w) \quad (1.5)$$

where  $z, w \in \mathbb{U}$  and  $g = f^{-1}$  is defined by (1.2).

*Remark 1.1.* We obtain the following bi-univalent function classes which consists of functions  $f \in \Sigma$  for the special values of  $\lambda$ .

(i) For  $\lambda = 0$ ,

$$\mathcal{S}_\Sigma(\mathfrak{P}) = \left\{ f \in \Sigma : \frac{zf'(z)}{f(z)} \prec \mathfrak{P}(z) \quad \text{and} \quad \frac{wg'(w)}{g(w)} \prec \mathfrak{P}(w) \right\}.$$

(ii) For  $\lambda = 1$ ,

$$\mathcal{K}_\Sigma(\mathfrak{P}) = \left\{ f \in \Sigma : 1 + \frac{zf''(z)}{f'(z)} \prec \mathfrak{P}(z) \quad \text{and} \quad 1 + \frac{wg''(w)}{g'(w)} \prec \mathfrak{P}(w) \right\}.$$

## 2. MAIN RESULTS

Using the Faber polynomial expansion of functions  $f \in \mathcal{A}$  of the form (1.1), the coefficients of its inverse function  $g = f^{-1}$  can be expressed as, [1]:

$$g(w) = f^{-1}(w) = w + \sum_{n=2}^{\infty} \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots) w^n, \quad (2.1)$$

where

$$\begin{aligned} K_{n-1}^{-n} &= \frac{(-n)!}{(-2n+1)!(n-1)!} a_2^{n-1} + \frac{(-n)!}{(2(-n+1))!(n-3)!} a_2^{n-3} a_3 \\ &+ \frac{(-n)!}{(-2n+3)!(n-4)!} a_2^{n-4} a_4 + \frac{(-n)!}{(2(-n+2))!(n-5)!} a_2^{n-5} [a_5 + (-n+2)a_3^2] \\ &+ \frac{(-n)!}{(-2n+5)!(n-6)!} a_2^{n-6} [a_6 + (-2n+5)a_3 a_4] + \sum_{j \geq 7} a_2^{n-j} V_j, \end{aligned} \quad (2.2)$$

such that  $V_j$  with  $7 \leq j \leq n$  is a homogeneous polynomial in the variables  $a_2, a_3, \dots, a_n$ , [2].

For  $n = 2, 3, 4$ , we obtain

$$K_1^{-2} = -2a_2, \quad K_2^{-3} = 3(2a_2^2 - a_3), \quad K_3^{-4} = -4(5a_2^3 - 5a_2 a_3 + a_4), \quad (2.3)$$

respectively. In general case, for any  $p \in \mathbb{Z} := \{0, \pm 1, \pm 2, \dots\}$ , an expansion of  $K_{n-1}^p$  is given by (see [1])

$$K_{n-1}^p = pa_n + \frac{p(p-1)}{2} D_{n-1}^2 + \frac{p!}{(p-3)!3!} D_{n-1}^3 + \dots + \frac{p!}{(p-n+1)!(n-1)!} D_{n-1}^{n-1}, \quad (2.4)$$

where

$$D_{n-1}^p = D_{n-1}^p(a_2, a_3, \dots, a_n),$$

and by [28],

$$D_{n-1}^m(a_2, \dots, a_n) = \sum \frac{m!}{v_1! \dots v_{n-1}!} a_2^{v_1} \dots a_n^{v_{n-1}}$$

and the sum is taken over all non-negative integers  $i_1, \dots, i_n$  satisfying

$$\begin{cases} v_1 + v_2 + \dots + v_{n-1} = m \\ v_1 + 2v_2 + \dots + (n-1)v_{n-1} = n-1 \end{cases}.$$

It is clear that

$$D_{n-1}^{n-1}(a_2, \dots, a_n) = a_2^{n-1}.$$

**Lemma 2.1.** [10] *Let  $p(z) = 1 + c_1 z + c_2 z^2 + \dots \in \mathcal{P}$ , then  $|c_k| \leq 2$  for  $k \in \mathbb{N}$ .*

**Lemma 2.2.** [33] *Let  $k, l \in \mathbb{R}$  and  $z_1, z_2 \in \mathbb{C}$ . If  $|z_1| < R$  and  $|z_2| < R$ , then*

$$|(k+l)z_1 + (k-l)z_2| \leq \begin{cases} 2R|k| & , \quad |k| \geq |l| \\ 2R|l| & \quad |k| \leq |l| \end{cases}.$$

**Theorem 2.1.** *Let the function  $f \in \mathcal{V}_\Sigma^\lambda(\mathfrak{P})$  be given by (1.1). If  $a_k = 0$  ( $2 \leq k \leq n-1$ ), then*

$$|a_n| \leq \frac{1}{2(n-1)[1+(n-1)\lambda]} \quad (n \geq 3).$$

*Proof.* Let  $f \in \mathcal{V}_\Sigma^\lambda(\mathfrak{P})$  be of the form (1.1). Then, we have

$$\frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)} = 1 + \sum_{n=2}^{\infty} \left\{ (n-1)[1+(n-1)\lambda] a_n + \sum_{j=1}^{n-2} F_j a_{n-j} \right\} z^{n-1}, \quad (2.5)$$

where

$$F_j = (n-j-1)[1+(n-j-1)\lambda] K_j^{-1}((1+\lambda)a_2, \dots, (1+j\lambda)a_{j+1}).$$

Similarly, for the inverse map  $g = f^{-1}$  given by (1.2), we get

$$\frac{wg'(w) + \lambda w^2 g''(w)}{(1-\lambda)g(w) + \lambda w g'(w)} = 1 + \sum_{n=2}^{\infty} \left\{ (n-1)[1+(n-1)\lambda] A_n + \sum_{j=1}^{n-2} G_j A_{n-j} \right\} w^{n-1}, \quad (2.6)$$

where

$$G_j = (n-j-1)[1+(n-j-1)\lambda] K_j^{-1}((1+\lambda)A_2, \dots, (1+j\lambda)A_{j+1}).$$

On the other hand, since  $f \in \mathcal{V}_\Sigma^\lambda(\mathfrak{P})$ , by the subordination principle, there exist the Schwarz's function  $\varkappa(z)$ ,

$$\varkappa \in \mathcal{H}: \varkappa(0) = 0 \quad \text{and} \quad |\varkappa(z)| < 1 \quad (z \in \mathbb{U})$$

such that

$$\frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)} = \mathfrak{P}(\varkappa(z)) \quad (z \in \mathbb{U}). \quad (2.7)$$

Now for  $p \in \mathcal{P}$  of the form

$$p(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots,$$

we can write

$$\varkappa(z) = \frac{p(z) - 1}{p(z) + 1}. \quad (2.8)$$

Solving  $\varkappa(z)$  in terms of  $p(z)$  in (2.8), we obtain

$$\begin{aligned} \varkappa(z) &= \frac{1}{2}c_1 z + \frac{1}{2}\left(c_2 - \frac{c_1^2}{2}\right)z^2 + \frac{1}{2}\left(c_3 - c_1 c_2 + \frac{c_1^3}{4}\right)z^3 \\ &\quad + \frac{1}{2}\left(c_4 - c_1 c_3 + \frac{3}{4}c_1^2 c_2 - \frac{1}{2}c_2^2 - \frac{1}{8}c_1^4\right)z^4 + \dots \end{aligned} \quad (2.9)$$

Using (2.9) in (1.3), we find

$$\mathfrak{P}(\varkappa(z)) = 1 - \frac{1}{4}c_1 z + \left(-\frac{1}{4}c_2 + \frac{3}{20}c_1^2\right)z^2 + \left(-\frac{1}{4}c_3 + \frac{3}{10}c_1 c_2 - \frac{17}{192}c_1^3\right)z^3 + \dots \quad (2.10)$$

Define

$$\varkappa(z) := \sum_{n=1}^{\infty} \varphi_n z^n.$$

Thus, we can write

$$\mathfrak{P}(\varkappa(z)) = 1 + \sum_{n=1}^{\infty} \sum_{r=1}^n \frac{\wp_r}{r!} D_n^r(\varphi_1, \varphi_2, \dots, \varphi_n) z^n. \quad (2.11)$$

Similarly, since  $g \in \mathcal{V}_{\Sigma}^{\lambda}(\mathfrak{P})$ , there exist the Schwarz's function  $\tau(w)$ ,

$$\tau \in \mathcal{H} : \tau(0) = 0 \quad \text{and} \quad |\tau(w)| < 1 \quad (w \in \mathbb{U})$$

such that

$$\frac{wg'(w) + \lambda w^2 g''(w)}{(1-\lambda)g(w) + \lambda w g'(w)} = \mathfrak{P}(\tau(w)) \quad (w \in \mathbb{U}). \quad (2.12)$$

Now for  $q \in \mathcal{P}$  of the form

$$q(w) = 1 + d_1 w + d_2 w^2 + d_3 w^3 + \dots,$$

we can write

$$\tau(w) = \frac{q(w) - 1}{q(w) + 1} = 1 + d_1 w + d_2 w^2 + d_3 w^3 + \dots \quad (2.13)$$

Solving  $\tau(w)$  in terms of  $q(w)$  in (2.13), we obtain

$$\begin{aligned} \tau(w) &= \frac{1}{2}d_1 w + \frac{1}{2}\left(d_2 - \frac{d_1^2}{2}\right)w^2 + \frac{1}{2}\left(d_3 - d_1 d_2 + \frac{d_1^3}{4}\right)w^3 \\ &\quad + \frac{1}{2}\left(d_4 - d_1 d_3 + \frac{3}{4}d_1^2 d_2 - \frac{1}{2}d_2^2 - \frac{1}{8}d_1^4\right)w^4 + \dots \end{aligned} \quad (2.14)$$

Using (2.14) in (1.3), we find

$$\mathfrak{P}(\tau(w)) = 1 - \frac{1}{4}d_1 w + \left(-\frac{1}{4}d_2 + \frac{3}{20}d_1^2\right)w^2 + \left(-\frac{1}{4}d_3 + \frac{3}{10}d_1 d_2 - \frac{17}{192}d_1^3\right)w^3 + \dots \quad (2.15)$$

Define

$$\tau(w) := \sum_{n=1}^{\infty} \psi_n w^n.$$

Thus, we can write

$$\mathfrak{P}(\tau(w)) = 1 + \sum_{n=1}^{\infty} \sum_{r=1}^n \frac{\wp_r}{r!} D_n^r(\psi_1, \psi_2, \dots, \psi_n) w^n. \quad (2.16)$$

Considering (2.5) and (2.11) in equality (2.7), for any  $n \geq 2$ , we get

$$(n-1) [1 + (n-1)\lambda] a_n + \sum_{j=1}^{n-2} F_j a_{n-j} = \sum_{r=1}^{n-1} \frac{\wp_r}{r!} D_{n-1}^r(\varphi_1, \varphi_2, \dots, \varphi_{n-1}), \quad (2.17)$$

and similarly, (2.6) and (2.16) in equality (2.12), we obtain

$$(n-1) [1 + (n-1)\lambda] A_n + \sum_{j=1}^{n-2} G_j A_{n-j} = \sum_{r=1}^{n-1} \frac{\wp_r}{r!} D_{n-1}^r(\psi_1, \psi_2, \dots, \psi_{n-1}). \quad (2.18)$$

By hypothesis, since  $a_k = 0$  ( $2 \leq k \leq n-1$ ), we have

$$A_n = -a_n,$$

$$\varphi_1 = \dots = \varphi_{n-2} = 0, \quad \varphi_{n-1} = \frac{1}{2} c_{n-1}$$

and

$$\psi_1 = \dots = \psi_{n-2} = 0, \quad \psi_{n-1} = \frac{1}{2} d_{n-1}.$$

So (2.17) and (2.18) imply that

$$(n-1) [1 + (n-1)\lambda] a_n = \wp_1 \varphi_{n-1} \quad \text{and} \quad -(n-1) [1 + (n-1)\lambda] a_n = \wp_1 \psi_{n-1},$$

respectively. Using the fact that  $\wp_1 = -\frac{1}{2}$  and Lemma 2.1, we obtain

$$|a_n| = \frac{|\wp_1| |\varphi_{n-1}|}{(n-1) [1 + (n-1)\lambda]} = \frac{|\wp_1| |\psi_{n-1}|}{(n-1) [1 + (n-1)\lambda]} \leq \frac{1}{2(n-1) [1 + (n-1)\lambda]},$$

which completes the proof of the Theorem 2.1.  $\square$

By setting  $\lambda = 0$  and  $\lambda = 1$  in Theorem 2.1, we obtain the following consequences, respectively.

**Corollary 2.1.** *Let the function  $f \in \mathcal{S}_{\Sigma}(\mathfrak{P})$  be given by (1.1). If  $a_k = 0$  ( $2 \leq k \leq n-1$ ), then*

$$|a_n| \leq \frac{1}{2(n-1)} \quad (n \geq 3).$$

**Corollary 2.2.** *Let the function  $f \in \mathcal{K}_{\Sigma}(\mathfrak{P})$  be given by (1.1). If  $a_k = 0$  ( $2 \leq k \leq n-1$ ), then*

$$|a_n| \leq \frac{1}{2n(n-1)} \quad (n \geq 3).$$

**Theorem 2.2.** *Let the function  $f \in \mathcal{V}_{\Sigma}^{\lambda}(\mathfrak{P})$  be given by (1.1). Then*

$$|a_2| \leq \frac{1}{2(1+\lambda)} \quad (2.19)$$

and

$$|a_3| \leq \begin{cases} \frac{5}{2(7+14\lambda+17\lambda^2)} & , \quad 0 \leq \lambda \leq \frac{3+\sqrt{60}}{17} \\ \frac{1}{4(1+2\lambda)} & , \quad \frac{3+\sqrt{60}}{17} \leq \lambda \leq 1 \end{cases}. \quad (2.20)$$

*Proof.* If we set  $n = 2$  and  $n = 3$  in (2.17) and (2.18), respectively, we get

$$(1+\lambda) a_2 = \wp_1 \varphi_1, \quad (2.21)$$

$$2(1+2\lambda) a_3 - (1+\lambda)^2 a_2^2 = \wp_1 \varphi_2 + \frac{\wp_2}{2} \varphi_1^2, \quad (2.22)$$

$$-(1+\lambda) a_2 = \wp_1 \psi_1, \quad (2.23)$$

$$(3+6\lambda-\lambda^2) a_2^2 - 2(1+2\lambda) a_3 = \wp_1 \psi_2 + \frac{\wp_2}{2} \psi_1^2, \quad (2.24)$$

where

$$\begin{aligned} \varphi_1 &= \frac{1}{2} c_1, & \varphi_2 &= \frac{1}{2} \left( c_2 - \frac{c_1^2}{2} \right), \\ \psi_1 &= \frac{1}{2} d_1, & \psi_2 &= \frac{1}{2} \left( d_2 - \frac{d_1^2}{2} \right). \end{aligned}$$

Note that

$$\varphi_1 = -\psi_1 \quad \text{and} \quad \varphi_1^2 + \psi_1^2 = 8(1+\lambda)^2 a_2^2$$

or equivalently

$$c_1 = -d_1 \quad \text{and} \quad c_1^2 + d_1^2 = 32(1+\lambda)^2 a_2^2. \quad (2.25)$$

From (2.21) and (2.23), we find

$$|a_2| = \frac{|\wp_1| |\varphi_1|}{1+\lambda} = \frac{|\wp_1| |\psi_1|}{1+\lambda} \leq \frac{1}{2(1+\lambda)}. \quad (2.26)$$

Also from (2.22) and (2.24), we obtain

$$2(1+2\lambda-\lambda^2) a_2^2 = \wp_1 (\varphi_2 + \psi_2) + \frac{\wp_2}{2} (\varphi_1^2 + \psi_1^2)$$

or equivalently

$$2(1+2\lambda-\lambda^2) a_2^2 = -\frac{1}{4} (c_2 + d_2) + \frac{3}{20} (c_1^2 + d_1^2). \quad (2.27)$$

Substituting the value of  $c_1^2 + d_1^2$  from (2.25) in the right hand side of the above equality, we deduce that

$$a_2^2 = \frac{5(c_2 + d_2)}{8(7+14\lambda+17\lambda^2)}. \quad (2.28)$$

Using the Lemma 2.1, we get

$$|a_2| \leq \sqrt{\frac{5}{2(7+14\lambda+17\lambda^2)}}, \quad (2.29)$$

and combining this with the inequality (2.26), we obtain the desired estimate on the coefficient  $|a_2|$  as asserted in (2.19).

Next, in order to find the bound on the coefficient  $|a_3|$ , we subtract (2.24) from (2.22). We thus get

$$4(1+2\lambda)(a_3 - a_2^2) = \frac{\wp_1}{2}(c_2 - d_2)$$

or

$$a_3 = a_2^2 - \frac{c_2 - d_2}{16(1+2\lambda)}. \quad (2.30)$$

Upon substituting the value of  $a_2^2$  from (2.28) into (2.30), it follows that

$$a_3 = \left( \Lambda(\lambda) - \frac{1}{16(1+2\lambda)} \right) c_2 + \left( \Lambda(\lambda) + \frac{1}{16(1+2\lambda)} \right) d_2,$$

where

$$\Lambda(\lambda) = \frac{5}{8(7+14\lambda+17\lambda^2)}.$$

By Lemma 2.2, we get the desired estimate on the coefficient  $|a_3|$  as asserted in (2.20).  $\square$

By setting  $\lambda = 0$  and  $\lambda = 1$  in Theorem 2.2, we obtain the following consequences, respectively.

**Corollary 2.3.** *Let the function  $f \in \mathcal{S}_\Sigma(\mathfrak{P})$  be given by (1.1). Then*

$$|a_2| \leq \frac{1}{2} \quad \text{and} \quad |a_3| \leq \frac{5}{14}.$$

**Corollary 2.4.** *Let the function  $f \in \mathcal{K}_\Sigma(\mathfrak{P})$  be given by (1.1). Then*

$$|a_2| \leq \frac{1}{4} \quad \text{and} \quad |a_3| \leq \frac{1}{12}.$$

**Theorem 2.3.** *Let the function  $f \in \mathcal{V}_\Sigma^\lambda(\mathfrak{P})$  be given by (1.1). Then, for any  $\delta \in \mathbb{R}$ , we have*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{1}{4(1+2\lambda)} & , \quad \delta \in [\rho, \eta] \\ \frac{5|1-\delta|}{2(7+14\lambda+17\lambda^2)} & , \quad \delta \in (-\infty, \rho] \cup [\eta, \infty) \end{cases},$$

where

$$\rho = \frac{3+6\lambda-17\lambda^2}{10(1+2\lambda)} \quad \text{and} \quad \eta = \frac{17(1+\lambda)^2}{10(1+2\lambda)}.$$

*Proof.* For the function  $f \in \mathcal{V}_\Sigma^\lambda(\mathfrak{P})$  of the form (1.1), from (2.28) and (2.30) we have

$$a_3 - \delta a_2^2 = \left( \mathfrak{h}(\delta) - \frac{1}{16(1+2\lambda)} \right) c_2 + \left( \mathfrak{h}(\delta) + \frac{1}{16(1+2\lambda)} \right) d_2,$$

where

$$\mathfrak{h}(\delta) = \frac{5(1-\delta)}{8(7+14\lambda+17\lambda^2)}.$$

Then by Lemma 2.1 and Lemma 2.2, we conclude that

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{1}{4(1+2\lambda)} & , \quad |\mathfrak{h}(\delta)| \leq \frac{1}{16(1+2\lambda)} \\ 4|\mathfrak{h}(\delta)| & , \quad |\mathfrak{h}(\delta)| \geq \frac{1}{16(1+2\lambda)} \end{cases}.$$

$\square$

By setting  $\lambda = 0$  and  $\lambda = 1$  in Theorem 2.3, we obtain the following consequences, respectively.

**Corollary 2.5.** *Let the function  $f \in \mathcal{S}_\Sigma(\mathfrak{P})$  be given by (1.1). Then, for any  $\delta \in \mathbb{R}$ , we have*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{1}{4} & , \quad \delta \in \left[\frac{3}{10}, \frac{17}{10}\right] \\ \frac{5|1-\delta|}{14} & , \quad \delta \in \left(-\infty, \frac{3}{10}\right] \cup \left[\frac{17}{10}, \infty\right) \end{cases}.$$

**Corollary 2.6.** *Let the function  $f \in \mathcal{K}_\Sigma(\mathfrak{P})$  be given by (1.1). Then, for any  $\delta \in \mathbb{R}$ , we have*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{1}{12} & , \quad \delta \in \left[-\frac{4}{15}, \frac{34}{15}\right] \\ \frac{5|1-\delta|}{76} & , \quad \delta \in \left(-\infty, -\frac{4}{15}\right] \cup \left[\frac{34}{15}, \infty\right) \end{cases}.$$

#### REFERENCES

- [1] H. Airault and A. Bouali, *Differential calculus on the Faber polynomials*, Bull. Sci. Math., **130**(3) (2006), 179–222.
- [2] H. Airault and J. Ren, *An algebra of differential operators and generating functions on the set of univalent functions*, Bull. Sci. Math., **126**(5) (2002), 343–367.
- [3] G. Akın and S. Sümer Eker, *Coefficient estimates for a certain class of analytic and bi-univalent functions defined by fractional derivative*, C. R., Math., Acad. Sci. Paris, **352**(12) (2014), 1005–1010.
- [4] Ş. Altınkaya and S. Yalçın, *Faber polynomial coefficient bounds for a subclass of bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **353**(12) (2015), 1075–1080.
- [5] D.A. Brannan and T.S. Taha, *On some classes of bi-univalent functions*, Studia Univ. Babeş-Bolyai Math., **31**(2) (1986), 70–77.
- [6] S. Bulut, *Faber polynomial coefficient estimates for a comprehensive subclass of analytic bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **352**(6) (2014), 479–484.
- [7] S. Bulut, N. Magesh and V.K. Balaji, *Faber polynomial coefficient estimates for certain subclasses of meromorphic bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **353**(2) (2015), 113–116.
- [8] L. Carlitz, *A sequence of integers related to the Bessel functions*, Proc. Amer. Math. Soc., **14** (1963), 1–9.
- [9] M. Çağlar, H. Orhan and N. Yağmur, *Coefficient bounds for new subclasses of bi-univalent functions*, Filomat, **27**(7) (2013), 1165–1171.
- [10] P.L. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, vol. 259, Springer, New York, 1983.
- [11] G. Faber, *Über polynomische Entwicklungen*, Math. Ann., **57**(3) (1903), 389–408.
- [12] S.G. Hamidi, S.A. Halim and J.M. Jahangiri, *Coefficient estimates for a class of meromorphic bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **351**(9-10) (2013), 349–352.
- [13] S.G. Hamidi and J.M. Jahangiri, *Faber polynomial coefficient estimates for analytic bi-close-to-convex functions*, C. R., Acad. Sci. Paris, **352**(1) (2014), 17–20.
- [14] S.G. Hamidi and J.M. Jahangiri, *Faber polynomial coefficients of bi-subordinate functions*, C. R., Math., Acad. Sci. Paris, **354**(4) (2016), 365–370.
- [15] S.G. Hamidi, T. Janani, G. Murugusundaramoorthy and J.M. Jahangiri, *Coefficient estimates for certain classes of meromorphic bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **352**(4) (2014), 277–282.
- [16] T. Hayami and S. Owa, *Coefficient bounds for bi-univalent functions*, Pan Amer. Math. J., **22**(4) (2012), 15–26.
- [17] F.T. Howard, *The van der Pol numbers and a related sequence of rational numbers*, Math. Nachr., **42** (1969), 89–102.
- [18] J.M. Jahangiri and S.G. Hamidi, *Advances on the coefficients of bi-prestarlike functions*, C. R., Math., Acad. Sci. Paris, **354**(10) (2016), 980–985.
- [19] N. Kishore, *The Rayleigh function*, Proc. Amer. Math. Soc., **14** (1963), 527–533.

- [20] N. Kishore, *The Rayleigh polynomial*, Proc. Amer. Math. Soc., **15** (1964), 911–917.
- [21] M. Lewin, *On a coefficient problem for bi-univalent functions*, Proc. Amer. Math. Soc., **18** (1967), 63–68.
- [22] G. Murugusundaramoorthy and T. Bulboacă, *Initial coefficients and Fekete-Szegő inequalities for functions related to Van der Pol numbers (VPN)*, Math. Slovaca, **73** (2023), 1183–1196.
- [23] M. Raza, H.M. Srivastava, Q. Xin, F. Tchier, S.N. Malik and M. Arif, *Starlikeness associated with the Van der Pol numbers*, Mathematics, 2023, 11, 2231.
- [24] S. Sivasubramanian, R. Sivakumar, T. Bulboacă and T.N. Shanmugam, *On the class of bi-univalent functions*, C. R., Math., Acad. Sci. Paris, **352**(11) (2014), 895–900.
- [25] H.M. Srivastava, S. Bulut, M. Çağlar and N. Yağmur, *Coefficient estimates for a general subclass of analytic and bi-univalent functions*, Filomat, **27**(5) (2013), 831–842.
- [26] H.M. Srivastava, A.K. Mishra and P. Gochhayat, *Certain subclasses of analytic and bi-univalent functions*, Appl. Math. Lett., **23** (2010), 1188–1192.
- [27] T.S. Taha, *Topics in Univalent Function Theory*, Ph.D. Thesis, University of London, 1981.
- [28] P.G. Todorov, *On the Faber polynomials of the univalent functions of class  $\Sigma$* , J. Math. Anal. Appl., **162**(1) (1991), 268–276.
- [29] B. Van der Pol, *Smoothing and "unsmoothing"*. In: Probability and Related Topics in Physical Sciences (M. Kac, ed.), New York, Interscience, 1959, pp. 223–235.
- [30] Q.-H. Xu, Y.-C. Gui and H.M. Srivastava, *Coefficient estimates for a certain subclass of analytic and bi-univalent functions*, Appl. Math. Lett., **25** (2012), 990–994.
- [31] Q.-H. Xu, H.-G. Xiao and H.M. Srivastava, *A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems*, Appl. Math. Comput., **218** (2012), 11461–11465.
- [32] Z.-G. Wang and S. Bulut, *A note on the coefficient estimates of bi-close-to-convex functions*, C. R. Acad. Sci. Paris, Ser. I **355** (2017), 876–880.
- [33] P. Zaprawa, *Estimates of initial coefficients for bi-univalent functions*, Abstr. Appl. Anal., 2014, Art. ID 357480, 6 pp.

<sup>1</sup>FACULTY OF AVIATION AND SPACE SCIENCES,  
 KOCAELI UNIVERSITY, ARSLANBEY CAMPUS,  
 41285 KARTEPE-KOCAELI, TÜRKİYE  
 Email address: [serap.bulut@kocaeli.edu.tr](mailto:serap.bulut@kocaeli.edu.tr)